‘ Simultaneous Equations I

~
REVISE THIS
TOPIC

1 Solve the simultaneous equations @

4x + 3y =18
4x+y=14

Ll'_x+33:.|_8 Ll-:x.+l=('+

x + g = % Gx =20
7_3"— 4 x=3
e

-
S

(Total for Question 1 is 3 marks)
1
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2 Solve the simultaneous equations @

2X + 7y =30
2% +2y = 10

L +3y= 30 2x +2(4)=10
l:x.i-?.::lo 2x + 8 =10
53=lO 2x = 2

y* b L=\

e
-

(Total for Question 2 is 3 marks)

3 Solve the simultaneous equations @
O9x + 3y =57

2x + 3y =36

Qx-rlb: 51 2(3\+33= 36

—

Qe + 39=2 6 *3:3:3(;.
Ix = L\ 33330
r= 3 4= 0

D
- \O

(Total for Question 3 is 3 marks)
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4 Solve the simultaneous equations @

20x +y =90
9x +y =46

‘1-.-1-‘\",;):% 36 + Uk
| 1 3‘—(0

20x+4=90 %) £y = L6
= by 3
x=4

_—
= O

(Total for Question 4 is 3 marks)

5 Solve the simultaneous equations @
4x + 5y =61

Ax + 2y = 34

bx + 5y =6l Gax +2(9) = 3
bx+ly =W b 4 (323
33-—3} Yx = |b

' 9 x= Y

-5

s -
(Total for Question 5 is 3 marks)
3
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6 Solve the simultaneous equations @

33X +3y=27
2x—3y=8

ey 3A) 43y =03
lx-34=38 A1+ 3y=23%
S'L =&S 3326

x =+ .32'2-

. ¥
=L

(Total for Question 6 is 3 marks)

7 Solve the simultaneous equations @
6x — 2y =22

4x +2y =18

6}-—}3?—7:7_ k(4) + 13 =

G tly = |3 b +2-d =19

[Ox = 40 2.3:.2,
L= d:'\

- b
I

- y= !
(Total for Question 7 is 3 marks)
4
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8 Solve the simultaneous equations

9x + 7y =59
3X-7y=1

°\_|:§. iy 5+q 4(%) -\—?J = 59
e -Fy = | "\'Si’:}j =39
\2x = 60 ?3-\‘\'

=9

S..

X=

y:

o)

2.

(Total for Question 8 is 3 marks)

9 Solve the simultaneous equations

8x + 5y =39
8x—2y =18

B +9y = 39 RBx +5S(3) =219
8x - 15“8 Bx + 1S =79
13-&\ Rx =%
y=3 X=3

X =
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(Total for Question 9 is 3 marks)
5
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10 Solve the simultaneous equations @
3x—4y =29

Xx—4y=17

$a_r--l-1-3‘-'9:_°\ ||-L|-3—__-l-
x-by= 3 -Ll-j:.-‘-l-
2-30 '-'-1?, U:\

x =\

_—
o

(Total for Question 10 is 3 marks)

2 + 8y = 50 @

2x -3y =17

11 Solve the simultaneous equations

Lx+%y=30 1x + 8(%)= 50
)%-34=1F 2+ 24 = 50
|\3233 lx = 26
3:3 =13

. 13
e

(Total for Question 11 is 3 marks)

6

www.1stclassmaths.com © 2025 1stclassmaths


http://www.1stclassmaths.com/

° m r@ @1stclassmaths

12 Solve the simultaneous equations

3x+ 7y =43
x+2y=13 A3

3x +:l-j L5

x + 2(4) = 13
3::. +BD 301

x+ R =

.5
o

(Total for Question 12 is 3 marks)

9x + 4y =57 @
AX+2y=26 XL

13 Solve the simultaneous equations

qa(, ..|-L|-3 S? LI'(‘5)+ 23 = 1C
Bx +uy =51 1o+1j ’Lc.
xX = S

3
Y : 3

-
S

(Total for Question 13 is 3 marks)

7
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14 Solve the simultaneous equations @

13x + 5y =51
2x+y=9 X5

\'!31-\-‘_5\325_\ ’]_(’).)-\-3-:.‘1

lOI--\’SST'LPS L\'-\-j:c‘

330 = b 3:5
=2

- L
=D

(Total for Question 14 is 3 marks)

15 Solve the simultaneous equations @
8x+3y=73

4x-5y=17 R L

Bx +3y=73 Boc + 3(3) =33
Bx -104 =Y Bx + 4 =73
\3y = 39 Bx = bl

3 = ?) X =3

- 3
—_—

(Total for Question 15 is 3 marks)

8
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16 Solve the simultaneous equations @

3x + 6y =48
4x-3y=9 %L

3x £ 6y = 4R (6 + by =48
Bx -6y = 18 | 8 -\'(73:'4-?
\x - 66 63:30

L=06 3=5

-

(Total for Question 16 is 3 marks)

17 Solve the simultaneous equations @
4x+3y=33 X3

x+2y=24 w4

12 + f|3'.'- 19 Gx +3(3) =33
\'Lx-l-gj:q‘) L\—x-;-q = 3?3
3: 3 G =24

x=6b

S
-3

(Total for Question 17 is 3 marks)
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18 Solve the simultaneous equations @

5x+3y=38 ¥ L
2Xx-5y=9 %9

10x +§5 ='-!_'G Sx +30)=8%
lox- 25y = 43S Sx + 3:-3%
3\3': £} Sx =%

:‘-\ I.’-:l"

-
——

(Total for Question 18 is 3 marks)

19 Solve the simultaneous equations @
8x—-5y=49 XL

x-2y=18 xS

\bx -0y =18 3(8)’23 =¥
S —\03’-“0 LY —13=|8
p o = R —?.J:-G
g3

-
D

(Total for Question 19 is 3 marks)

10
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20 Solve the simultaneous equations @

8x + 5y =29
2X + 5y =26

3z + 5y = 29 1(%) + oy=16
22 +5y=26 \ +53=2g
bx =3 33 =15

x= % 4=5

=0-S
* . 05

" )

(Total for Question 20 is 3 marks)

21 Solve the simultaneous equations @
6x + 3y =33

6x — 5y =57

bx+ 3y = 33 b + H-)=33
bx-54:=5% bx - 4 = 33
83:—"1"\' 6‘1-‘:(‘\'2
Y=~ x=7F

S «
TS

(Total for Question 21 is 3 marks)

11
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22 Solve the simultaneous equations @

5x+8y=-1
3x—8y=25

Sx+%3=-| 5(3) + 8y = - |
Ix - By=2S 1S +8y:-|
Bx - A4 8y:=-16

x =3 3=-2.

—c

o =2

(Total for Question 22 is 3 marks)

23 Solve the simultaneous equations

3x+ 6y =12
x+4y=7

Ix + 6y = |1 I +4(29)=F
3x tby = F W+ l0 =F
29 =5 I =-3

3: 2-S x:—l

- =l

. 25

(Total for Question 23 is 3 marks)

12
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24 Solve the simultaneous equations

6x+3y=21 x5
Ix+5y=2 %3

30x +15y= 105 4SSV + Sy = L
2x +ISy= 6 1L +5y4= 2
|81 = qq 55 =-20

(Total for Question 24 is 3 marks)
25 Solve the simultaneous equations

3x+5y=10 xS
5x—-7y=9 “3

\Sac.-klsn—so 3x + 5009)= 10
1Sz - dly=2F Tx + LS

Woy= 12 =3.5
3-‘-% x= 2D
=05
3 9.5

y=...0:9

(Total for Question 25 is 3 marks)

13
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26 Solve the simultaneous equations

10x+3y=22 xS
4x+5y=43 R

S50z +15y4 =110 W(-0-9) 45y = &}
\’2,1-\-\‘53‘-’-‘7.“ -1 +53 472
38x = -\9 53 - 45

ST 3= A

- =03

-

(Total for Question 26 is 3 marks)

27 Solve the simultaneous equations

5x+2y=4
Ix+y=3 XL

W

Sx+29=4  4(R)+y=3

J
Bx+ly =6 §—’$+—\3‘-3
“x - -1 3;1-8,
3
2112 Uz.qf-g,—
2 I 2
=73 v
=3
3 N 7%5
y= ‘/3

(Total for Question 27 is 3 marks)

14
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28 Solve the simultaneous equations

1::-}3‘: A
|8.J’L +3:_5 = 6

0x =S
- 1S
x> 15
3
1=
x= 0-3

29 Solve the simultaneous equations

T2+ by =1
xy 04 = S

Ox

= &
'S
L= 75

X

o

-8

"

15

www. 1stclassmaths.com

2x—3y=9
bx+y=2 %

Uo¥s) -3y =
\'S - 3:330\
~-F=+S

025

X=

=45

y:

(Total for Question 28 is 3 marks)

x+2y=3 X §
4x + 6y =5

2(03)-}13 - S
-4 3 7“3: 3
A

0-%
0:3

(Total for Question 29 is 3 marks)

X =

y:

© 2025 1stclassmaths
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30 Solve the simultaneous equations

3x -3y =27
4x+ y=35 XY

Lx - 33 ’x‘\' Ll'(').S\{-j = 3.5
\'lx-rlv"\OS 0+ y= = 1§
lS‘JL = 3‘15 3--65
x = 333
\S

. as
X -\fo"

x= 1S = 22

. —65

(Total for Question 30 is 3 marks)
31 Solve the simultaneous equations

5x-2y=11 X3
4x-3y=2 x%

|S.x. "G\3 =33 S(-0) "?.3 = B

8% -64 = 4 -0:5-2y= 1)

Ix =-0-% -ZJ-—\G
Y = 02X 3*—0%
I_-;-"o-\ X = _0\

y= "0%

(Total for Question 31 is 3 marks)
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32 A shop sells pencils and rulers.

P C
The cost of 5 pencils and 2 rulers is £0.99

The cost of 1 pencil and 10 rulersis £1.35

Work out the cost of 1 pencil and the cost of 1 ruler.

SP-\' 2r=°|°| xS
?J\-\Or"—\SS

1S +10r-=13S
10r=17D

=7
){D‘)-l- \_Qr:L\':'_\S

py \0c= \3S
Lo = 360

S Cost of 1 pencil = \6
P - l Cost of 1 ruler = lQ.

(Total for Question 32 is 3 marks)
33 A machine makes hats and gloves but only makes one item at a time.

The time taken to make a hat is 2 minutes longer than the time taken to make a glove.
The machine makes 4 hats and 6 gloves in 13 minutes.

Work out how long the machine would take to make 1 hat and 1 glove.
Ll-\r\+63:l'$ 2-5-3=l
h - 9 2 x6 —-S =-0-S
g 0-S

\

th by > 13
(AN -69 = 12
\OW = 1S

h+aq =2S+05
J 3

k : 1 S 3 minutes

(Total for Question 33 is 4 marks)

17
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34 A cinema has adult tickets and child tickets.
The price of each ticket type is fixed.

a. C
Tom buys 3 adult tickets and 4 child tickets costing a total of £35.50

Lily buys 2 adult tickets and 3 child tickets costing a total of £25.00

Carolyn buys 1 adult tickets and 2 child tickets.
Work out how much Carolyn paid for the tickets.

x? 3 + 4c =39S0  9(650) +3c = 2S00
¥ o &+ 3 = 1S0D (300 + 3¢ =2800

10 =1100

Qa + (2c 210650 C = 400
B + Ilc = 10000
a = SO

a+2c = 6S0 + 24o0)
\L\’SD?
kl4-SO

(1

W\

. 1450

(Total for Question 34 is 4 marks)

18
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